CSE 140 Section 02 Probl ens

For this section, you will be witing logic that can anal yze a set of

i nformati on about people’s nanes, ages, and weights. You are not
expected to get through all of these problens, but the problens that
you do not conplete during section nake good practice problens outside
of section.

W can start with a file, data.txt, that contains the follow ng

20
17
21

Wite a small programto read in this file and conpute the average

of these values. Use a for |oop rather than the readline() function,
in order to prepare your solution to be robust enough to handl e | arger
files. Make sure to properly convert your data into int or fl oat

wher e necessary.

Consider a slightly different file, data.txt, that contains data for
vari ous peopl e’'s nanmes, ages, and weights. Here is one exanple if
what m ght be contained in the data.txt.

Alice
20
120.0
Bob

17
130.5
Fr eddi e
21
190. 6

Wite a small programto read in this file and conpute the average
age. You will use a simlar strategy as you did for the previous
problem but you will need logic to only selectively target the age
data within the file.
Modi fy your second program so that it prints whether a given age is
younger, older, or equal to the average age. Your programw || have a
structure like this:

age = 42 # This could be any integer >= 0

# Your code from Problem 2

# Your code for Problem 3

Wite a programthat finds and prints the maxi nrum wei ght within the
data set. You can assune that all weights are positive.

A nore common and useful format is csv -- comma separate val ues.
This is how our data set would read if it were formatted as csv:



Alice, 20,120.0
Bob, 17, 130. 5
Fr eddi e, 21, 190. 6

Wite a programthat reads in data.txt and outputs the csv formatted
version to a file called data.csv. You do not need to convert the
data into ints or floats, but you will need to renove extra new i nes

fromeach |ine. You can use rstrip to do this. For exanple, if you
have the foll ow ng string:

exanple_string = "A string with a newline at the end\n"
Then you can renove it

stripped_string = exanple.rstrip()
And the contents of stripped_exanple would be:

"A string with a newine at the end"

Wite a programthat reports whether a particular person is younger,
ol der, or equal to the average age. You namy assune that the given nane

does exist inside of the data set. Your programw || have a structure
like this:
nanme = "Alice" # This could be any string

# Your code for Problem5



CSE 140 Section 02 Code Exanpl es
An exanple of opening a file and printing all of its contents:

i nput = open("input.txt")
for line in input:
print line,

i nput . cl ose()

The conma at the end of the print statement stops python from
printing a redundant \n in addition to the one that is already in
the Iine variable.

An exanple of opening a file and counting the anmount of lines it
cont ai ns:

i nput = open("input.txt")
line nunber = 0
for line in input:
[ ine _nunber = line_nunber + 1

i nput . cl ose()
print |ine_nunber

An exanple of opening a file and only printing the odd nunbered |ines
(where the first line is 1):

i nput = open("input.txt")
line nunber = 0
for line in input:
if line_nunber %2 ==
print line,
i ne_nunber = line_nunber + 1

i nput . cl ose()

An exanple of opening a file and witing to it:
output _file = open("output.txt", "w")
output file.wite("apple\n")
output file.wite("banana\n")
output file.wite("nyan\n")
output _file.close()

An exanpl e of conbining data from separate |ines:
i nput = open("input.txt")

[ine_nunber =0
for line in input:

if line_nunmber %3 == O:
name = line.rstrip() # rstrip renoves the extra \n



elif line nunber %3 ==

age = int(line)
print "%: %" % (nanme, age)
i ne_nunber = line_nunber + 1

i nput . cl ose()

For the file, input.txt
Alice

20

120.0

Bob

17

130.5

Freddi e

21

190. 6
This program prints the out put
Alice: 20
Bob: 17
Freddie: 21

An exanpl e of | ooking for data matching a specific condition:

name "Alice"
per son_found

Fal se
i nput = open("input.txt")
line_nunber =0
for line in input:
if line_nunber %3
if line.rstrip() == nane:
person_found = True
line nunber % 3
i f person_found:
age = int(line)
per son_found Fal se
i ne_nunber = line_nunber + 1

elif

i nput .

print

An exanpl e of

print "%

cl ose()

"Us: %" % (nane, age)

String formatting:

od %" % ("Exanple String", 42, 9001.0)



CSE 140 Section 02 Sol utions
1. One possible solution appears bel ow
age_sum=0

i nput = open("data.txt")
line_nunber =0
for line in input:
age_sum = age_sum + int(line)
[ ine_nunber = line_nunber + 1

i nput . cl ose()
print float(age_sun) / |ine_nunber

2. One possible solution appears bel ow
age_sum=0

i nput = open("data.txt")
line nunber =0
for line in input:
if line_nunmber %3 == 1:
age_sum = age_sum + int(line)
line nunber = line nunber + 1

i nput . cl ose()
print float(age_sunm) / (line_nunber / 3)

3. One possible solution appears bel ow

age = 42
age_sum =0

i nput = open("data.txt")
[ine_nunber =0
for line in input:
if line_nunmber %3 ==
age_sum = age_sum + int(line)
i ne_nunber = line_nunber + 1

i nput . cl ose()
average_age = float(age_sum / (line_nunber / 3)
print average_age

i f age == average_age:

print "age equals the average age"
elif age > average_age:

print "age is older than the average age"
el se: # age < average age:

print "age is younger than the average age"

4. One possible solution appears bel ow

max_wei ght = 0



i nput = open("data.txt")
line nunber =0
for line in input:
if line_nunmber %3 == 2:
if float(line) > max_weight:
max_wei ght = float(line)
line_nunber = line_nunber + 1

i nput . cl ose()
print max_wei ght

5. One possible solution appears bel ow

i nput = open("data.txt")
[ ine_nunber =0
for line in input:
if line_nunmber %3 ==

name = line.rstrip()
if line_nunmber %3 == 1:

age = line.rstrip()
if line_nunmber %3 == 2:

weight = line.rstrip()

print "%, %, %" % (nane, age, weight)
line nunber = line nunber + 1

i nput . cl ose()
6. One possible solution appears bel ow
name = "Alice"

name_found = Fal se
age_ sum= 0

i nput = open("data.txt")
line nunber = 0
for line in input:
if line_nunber %3 ==
if name == line.rstrip():
name_found = True
if line_nunmber %3 ==
age_sum = age_sum + int(line)
i f nanme_found:
age = line.rstrip()
if line_nunmber %3 == 2:
i f name_found:
weight = line.rstrip()
line nunber = line nunber + 1

i nput . cl ose()
average_age = float(age_sum) / (line_nunber / 3)

if age == average_age:
print "9%’s age equal s the average age" % nane



elif age > average_age:

print "% is older than the average age" % nane
el se: # age < average age:

print "% is younger than the average age" % nane



